12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

caribou3d
12. Assembly of the x-Axis

Written By: Caribou3d

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 1 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 1 — Required Tools

e (1) 1.5x60mm Hexagon Socket
Head Screwdriver for Electronic

Applications

o (2) 2.5x75mm Hexagonal
Screwdriver

o (3) Electronics Pliers

e (4) Engineer Scriber

o (5) Soft-faced Hammer with Cellidor
Head Sections

(8)

o (6) Super Lube

o (7) Injectors

@ (8) Isopropanol (optional)

Step 2 — Required Parts

e (1) 2x x-Rod 380mm

@ (2) Stepper Motor

e (3) LMU10 Bushing

e (4) 3x LMUW10 Bushing

o (5) GT3 Toothed Pulley

o (6) 2x POM Nut

o (7) x-Motor Holder

o (8) x-Idler

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 2 of 11


https://caribou3d.com/en/tools/119-wera-2054-screwdriver-for-hexagon-socket-screws-for-electronic-applications-15mm-x-60mm.html
https://caribou3d.com/en/tools/118-9836-wera-354-screwdriver-for-hexagon-socket-screws.html#/148-wera_354-25_x_75mm
https://caribou3d.com/en/tools/272-electronics-pliers.html
https://caribou3d.com/en/tools/131-engineers-scriber.html
https://caribou3d.com/en/tools/134-wera-100-soft-faced-hammer-with-cellidor-head-sections.html
https://caribou3d.com/en/rods-bearings/220-synco-lube.html
https://caribou3d.com/en/rods-bearings/219-21-misumi-psfu-10mm-rods-for-caribou.html#/8-rod_length-380mm
https://caribou3d.com/en/stepper-motors/45-linear-stepper-motor-ldo-42sth40-1004a.html
https://caribou3d.com/en/rods-bearings/224-misumi-lmu10-linear-bearing-bushing.html
https://caribou3d.com/en/rods-bearings/225-misumi-lmuw10-linear-bearing-bushing.html
https://caribou3d.com/en/pulleys-belts/109-misumi-gt3-toothed-pulley-for-powergrip-gt3.html
https://caribou3d.com/en/electronics/59-pom-nut-for-caribou-motors.html

12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 3 — Required Screws

o (1) 8x Black M3 Washers
(2) 2x M3 Nuts

3388 ~ B ° LU
o) o (3) 10x M3 Self-Securing Nuts

*) e (4) M3 Square Nut

m o (5) 4x M3x12mm Hexagon Socket
Head Cap Screws

o (6) 4x M3x14mm Hexagon Socket
Head Cap Screws

(7) (8)
o (7) 2x M3x16mm Hexagon Socket

Head Cap Screws

o (8) 4x M3x30mm Hexagon Socket
Head Cap Screws

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 3 of 11


https://caribou3d.com/en/screws-nuts/731-m3-nut-50x.html
https://caribou3d.com/en/screws-nuts/804-m3-self-securing-nut-50x.html
https://caribou3d.com/en/screws-nuts/115-square-nuts-m3-flat-form.html
https://caribou3d.com/en/screws-nuts/227-9676-m3-hexagon-socket-head-cap-screws-black-10x.html#/198-screwlength-12mm
https://caribou3d.com/en/screws-nuts/227-9677-m3-hexagon-socket-head-cap-screws-black-10x.html#/199-screwlength-14mm
https://caribou3d.com/en/screws-nuts/227-9678-m3-hexagon-socket-head-cap-screws-black-10x.html#/200-screwlength-16mm
https://caribou3d.com/en/screws-nuts/227-9683-m3-hexagon-socket-head-cap-screws-black-10x.html#/205-screwlength-30mm

12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 4 — Assembling the x-Motor Holder (1 / 4)

(@) To prepare for later, 3x LMUW10 bushings and one LMU10 bushing must be placed in isopropanol
for 15min.

e Insert 2x M3 Self-Securing Nuts into the back of the x-motor holder.
Insert 2x M3 Nuts into the bottom of the cable guide at the back of the x-motor holder.

@ Tighten the 2x M3 Self-Securing Nuts and the 2x M3 Nuts with a screwdriver or an engineer
scriber if necessary.

Place a stepper motor on the back of the x-motor holder. When doing so, pay close attention to the
alignment (see Fig. 2).

A Make sure that the cables are routed through the cable holder.

e Hold on to the stepper motor and turn the x-motor holder. Place 4x M3 Washers in the four
openings of the x-motor holder. Then, fasten the stepper motor to the x-motor holder with 4x
M3x12mm Hexagon Socket Head Cap Screws.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 4 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 5 — Assembling the x-Motor Holder (2 / 4)

e Now, you need the bushings you have prepared in the first step. They must be dryed and then
greased with Super Lube.

@ One of the greased LMUW10 bushings is pushed into the x-motor holder so that it is centered.
Then the bushing is fixed with 2x M3x30mm Hexagon Socket Head Cap Screws.

& When doing so, make sure that you only tighten the M3 Hexagon Socket Head Cap Screws
minimally so that the screw is flush with the M3 Self-Securing Nuts.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 5 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 6 — Assembling the x-Motor Holder (3 / 4)

A Check the hole for the POM nut for filament protrusions and remove them with a knife or scalpel if
necessary.

o Insert 2x M3 Self-Securing Nuts into the designated slots.
@ Insertion can be made easier with the help of an engineer scriber.
o Now place a POM nut in the hole on the top.
Use 2x M3 Washers and 2x M3x14mm Hexagon Socket Head Cap Screws to fix the POM nut.
& Here, make sure that you screw the screws into the threaded holes of the POM nut.

& Do not tighten the 2x M3x14mm Hexagon Socket Head Cap Screws completely at this stage.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 6 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 7 — Assembling the x-Motor Holder (4 / 4)

e Slide the GT3 pulley onto the shaft of the stepper motor.

& The motor shaft has two grub screws. Make sure that one of them is aligned with the flat surface
of the shaft and tighten both grub screws.

@ Leave a narrow gap between the pulley and the motor surface to avoid friction.
o Insert a M3 Square Nut into the slot on the back of the x-motor holder using electronics pliers

@ The x-motor mount is now fully assembled.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 7 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 8 — Assembling the x-Idler (1 /2)

o Insert 2x M3 Self Securing Nutsinto the back of the x-idler.

@ Insert 2x M3 Self-Securing Nutsinto the two slots on the top and bottom of the x-idler and lightly
tightened them with 2x M3x16mm Hexagon Socket Head Cap Screws.

o Push one of the greased LMUW10 bushings into the x-idler and ensure that it is centered.
o Fasten it with 2x M3x30mm Hexagon Socket Head Cap Screws .

& Make sure that you tighten the Hexagon Socket Head Cap Screws only minimally, as they should
fit flush with the M3 Self-Securing Nuts.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 8 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 9 — Assembling the x-Idler (2 / 2)

& Check the hole for the POM nut for filament protrusions and remove them with a knife or scalpel if
necessary.

o Insert 2x M3 Self-Securing Nutsinto the designated slots.

@ Insertion can be made easier with the help of an engineer scriber.

e Now, put a POM Nut into the hole on the top.

e Take 2x M3 Washers and 2x M3x14mm Hexagon Socket Head Cap Screws to fix the POM nut.
A Make sure that you screw the screws into the two threaded holes of the POM nut.
A Do not tighten the 2x M3x14mm Hexagon Socket Head Cap Screws completely for the time being.

@ The x-idler is now fully assembled.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 9 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 10 — Assembling the x-Axis (1/ 2)

—
o
J

w

@ Place one of the 380mm x-Rods into one of the designated holes. Carefully tap the rod into the x-
idler with a soft-faced hammer.

o Repeat this step with the second rod.

A Make sure the rods are pushed in all the way down by looking through the small window on the
back of the x-idler.

Step 11 — Assembling the x-Axis (2 / 2)

1
‘ ‘ —
Pe—

-

@ Align the x-axis as shown in the first picture. Slide an LMUW10 bushing onto the upper x-rod and
an LMU10 bushing onto the lower x-rod.

Remember to grease the bushings with Super Lube beforehand.
@ Align both x-rods with the holes in the x-idler and gently tap the x-idler with a soft-faced hammer.

o The x-ldler has a small window on the back that allows you to check whether the rods are properly

positioned.
This document was generated on 2022-06-15 02:15:13 AM (MST).

© 2022 caribou3d.dozuki.com/ Page 10 of 11



12. Assembly of the x-Axis Guide ID: 131 - Draft: 2022-05-15

Step 12

e The assembly of the x-axis is
completed now.

@ Continue with instructions 13.
Installation and Wiring of the x-Axis.

This document was generated on 2022-06-15 02:15:13 AM (MST).
© 2022 caribou3d.dozuki.com/ Page 11 of 11


https://caribou3d.dozuki.com/Guide/13.+Installation+and+Wiring+of+the+x-Axis/77

	12. Assembly of the x-Axis
	Written By: Caribou3d
	Step 1 — Required Tools
	Step 2 — Required Parts
	Step 3 — Required Screws
	Step 4 — Assembling the x-Motor Holder (1 / 4)
	Step 5 — Assembling the x-Motor Holder (2 / 4)
	Step 6 — Assembling the x-Motor Holder (3 / 4)
	Step 7 — Assembling the x-Motor Holder (4 / 4)
	Step 8 — Assembling the x-Idler (1 / 2)
	Step 9 — Assembling the x-Idler (2 / 2)
	Step 10 — Assembling the x-Axis (1 / 2)
	Step 11 — Assembling the x-Axis (2 / 2)
	Step 12


